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Missing Numerator

Calculate the missing numerators.

6255 of = 125 1746 of = 29

3524 of = 264 1252 of = 62.5

5012 of = 250.5 1928 of = 72 2403 of = 160

2317 of = 66 9006 of = 150 1504 of = 112.5

1953 of = 130 854 of = 42.5 2808 of = 105

3405 of = 68 5226 of = 348 2527 of = 72

3969 of = 88 8808 of = 770 9999 of = 222

3786 of = 126 1012 of = 50.5 4755 of = 285
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Answers

Calculate the missing numerators.

6255
1 of = 125 1746

1 of = 29

3524
3 of = 264 1252

1 of = 62.5

5012
1 of = 250.5 1928

3 of = 72 2403
2 of = 160

2317
2 of = 66 9006

1 of = 150 1504
3 of = 112.5

1953
2 of = 130 854

2 of = 42.5 2808
3 of = 105

3405
1 of = 68 5226

4 of = 348 2527
2 of = 72

3969
2 of = 88 8808

7 of = 770 9999
2 of = 222

3786
2 of = 126 1012

1 of = 50.5 4755
3 of = 285


